L3

TOIF, TS TETATAET oY a ST, ﬂrﬂjrﬂa.-
2011 Code : PSP

w7 stﬁa' apsy TOS R HHIE

BOOKLET No. l U 7 3 3

*‘ TR T S : 200

% ¥% : 2 (IM) W =ATeuft Wet/SCREENING TEST THROT I : 200

e
i
%

]
3

HAAT
(1) g yyfda 200 afar 77 STRE. Iean weie IR ferftvame geam weagdt a1 g
ud v aNga fohar T T @ e . I a3 FE AN Teeer™ € Wi

ARG ThIY SReld ATl SN

(2) Ty S-S 20 S \—T'J gﬁ?
7 fraET sierdm foemE. S ErR e

(3) T SIdCR TR FHHish T FRuB fafire it swafresatier g 9 formwan g wvEr.
(4) =) o YT TF TS 4 T I gl o g = 1, 2, 3 anfi 4 9w e
T, T TR ITGIh! FFTd G0 I HUTF ITABRTIE GETAT0 AT IRt TS

AT, A FHR SIS ITCHHTEH T8 FEAFT O Taio T eREmI ST e aX et

ATEA FTe B ST, FTR AT wad ShTesat P SieTd aTad, U o wirde O waE A,

F) IwEnTA vt Rreamard aoEt s et araw A e ome. @ Rvar s/ ww

TR sreat o wrunge Rt fmin sread vt seae, ShEaRe wefta

(5) Hd JEHT WHH TOT 3. T WS I IR arEid. TEYs g SR T 9Tt S8 v e
o AT T HieaEa. HHM T SSfa ST AR 99T TETET WuH S Aot Wl 3% 1 %

LA o e S )

TrAfaAT YEe TS @, I WER YT Wda NEeeaH| 9@ fiews Ul st
(6) ITATIHA ThaT THE Harc! I GISaT AR Y. TG Feiet IT g T I o & Jorde o
T
(7) TR ThEaT ITATAETS Heaid FRaTT SHAARred] Ina e e ara Jwrms 1o et e,
AT I WISfAeedT Wi SR e et STHTE! UshT WYATS JUT 9 T 9t .
arehig ]
T YRGBT A fafde deeht S wiwda @ wwgieE s wenr sgw @
THYTEEAT IRTERET Thaardt sToear 30w ¥ A, € 4w wiuda Wt wvgfede
e /sreft, e weR vy i i e FvTeTd TWEuTE YRIs a7 TIea gt wureTet
e i, ada wirg w01 € T ST Ayt Fet ST S e AR S e
““oftgrmed grom=an iEriT wivEy FRvaraTETer sfifan-82" arfie mgdiger i vafew
HIAETET AT FRETS FvaT A & St st &wrer U weear srvararsar snfo /R

SEAL

TR O FT THUAT SeTe fdre ure g,
o T EuRaaTE e Sevelt do davaeedt f wygfere srfigaaor et g T

I ety Som STAFAMITaR wraTs woam 3 o 2 s i um e,




» “-1 —_— Ty A : ."'“"'v. [ -:' e CELOAR Y .:'
e, Ao ven TEROLAT VTR VI TR0 TRt T fiRIAE

‘ '
i

PSP ’

RN read TBRC ST RO
DL O i::r ¢ WWW/SPACE FOR ROUGH WORK



ool HIATETS! SHT/SPACE FOR ROUGH WORK

A ' 3 PSP
1. It TeaT=T Tt weaTEt e asmae.
(1) WER W (2) @€ wisese
(3) e afeeh 4) T3 =
: played the leading role in integrating the Indian Princely States.
*‘ (1) Sardar Patel (2) Lord Mountbatten
. (3) Lord Attlee (4) Rajendra Prasad
2, VRAT {ead! gEaTa FIet AT WA gL St S0 g 7
1 1) o sadE (2) =&
3 @) e AP (@) wie ofeel
‘f Who was the Governor General of India when Railways were introduced ?
(1) Lord Dalhousie - (2) Lord Canning
(3) Lord Mountbatten (4) Lord Attlee
8. Wl U Hiwe afee giem e
(1) A FeTH ATHAR (2) wgkn daash
(3) THWEN (4) e oA
The first Muslim President of Indian National Congress
(1) Abul Kalam Azad {2) Badruddin Tayabjee
(3) Hakim Khan (4) Barrister Jinnah
4. 2 1857 <1 I3 Y& A ATARH Toe-H SR 8.
1) iE s @) i wEa
(3) W€ H @ s fom
was the Governor General when the revolt of 1857 broke out.
(1) Lord Dalhousie (2) Lord Curzon
(3) Lord Canning (4) Lord Rippon
5. SR gherdial & & ferdter S M et
(1) Srigeen (2) W 9IS
(3) drTIN (4) ATETRS
In Barakpur regiment Hindi sepoy fired at his British Major.
(1) Ajimulla (2) Mangal Pande
(3) Tatya Tope (4) Nanasaheb

P.T.O.
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6. 9 1933 7Ed “‘gitem’’ a1 e Sl TR FHIv TE et 7

(1) <. FEHRT AESH (2) wrETeHT mef

(3) & TR Aifar @ fa. . g

Who started the English weekly “Harijan” in 1933 ?

(1) Dr. Babasaheb Ambedkar (2) Mahatma Gandhi

(3) Dr. Ram Manohar Lohiya (4) V.D.Savarkar
7. T ST Ags A1 U AEH A,

(1) fasremeh faregomnt (2) T ol %

(3) =, TH (4) TETH Bl

1s a author of ‘Shetkaryacha Asud’.
(1) Vishnushastri Chiplunkar (2) R.D.Karve
(3) Justice Ranade (4) Mahatma Phule

8. 19 1969 TS 14 W@ s TRRAFT iUl &t 7

(1) 3. A FommmE (2) sfa meh

(3) 4. &, e (4) ITEATT TR

Who did the Nationalization of 14 major banks on 19t? July 1969 ?
(1) T.T. Krishnammachari (2) Indira Gandhi

(3) S.K.Patil (4) Yashwantrao Chavan

9. MYl YR eTHR Hivmg wgoram ¢

(1) Tsfa meh | ) 3w ekt

(3) ufsa ves (4) e g Ineh

Who is called as the architect of Modern India ?

(1) Rajiv Gandhi (2) Indira Gandhi

(3) Pandit Nehru (4) Lal Bahadur Shastri

10. SHIOIT=AT YT  STeHT ST ST et ?

(1) ST, AT TIga (2) . HERY Mfag 1=

(3) "uTe & AIE (4) . WisHa

Who took initiative to establish “Prarthana Samaj” ?

(1) Dr. Atmaram Pandurang (2) Justice Mahadeo Govind Ranade
(3) Gopal Hari Deshmukh (4) Dr.Bhandarkar

HosdT HTHTATS! JWT/SPACE FOR ROUGH WORK
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11. ‘T SR 99 31 U9 @ S el 7
(1) . aIETERy e
@) 5. A Fa
(3) wafd fagar Twsht i
\ (4) TR TigE
ﬁ Who was the author of a book entitled ‘Bhartiya Aasprushanche Prashna’ ?
(1) Dr. Babasaheb Ambedkar
(2) Mahatma Jyotirao Phule

(3) Maharshi Vitthal Ramaji Shinde
(4) Dadoba Pandurang

: 12, . 1 B TR WE HiwaT S €.

(1) =i amag @) g 3w

(3) oFftdge (4) 3 HEa

was a prominent woman leader of Homerule Movement.
(1) Sarojini Naidu (2) Sushila Naiyar

(3) Ani Besant (4) Usha Mehata

13. wHame) Y HaWr R T Faelt gUEER 9 Ta e o,
(1) A oot (2) HEHEN] (3) Yas (4) et
The international airport named Netaji Subhaskchandra Bose is located at

1 India.
(1) New Delhi (2) Ahmedabad (3) Bhuvaneshwar (4) Kolkata

14, R 979 HURO 5614 V[T UL 9 GROTET E@ieflerdeh! HIv 46T 3fgee Tt ?
(1) et ) eRfRrE T R
(2) el g 83, TR, TN I741 YREUd T SROnE Sihey arer
(3) TcaTEiaTal s giyan g
@) feg=n gevres fama e i S@ae FEIEt Tad I
According to National Forest Policy of Indian Forest Conservation which of the
following is not the main cbjective ?

(1) To maintain ecological balance for the stability of environment

(2) To control soil erosion in the areas of rivers catchment areas, lakes and water
reservoirs

(3) To provide houses for the tribal people
3 (4) To take steps with the co-operation of woman and mass movement on a large
3 scale

woed! HWATATS! AR/ SPACE FOR ROUGH WORK
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15, dffe feemdia 2 T3 A= v v SieEd TR,
(1) =TS (2) 03 (3) ArTER (4) TS
place in Beed district is known as Peacock Sanctuary.
(1) Ambejogai (2) Georai (3) Chausala (4) Nayagaon
16. ORI Aefie T wTveTs IR e [Mesaa sTeesand ?
(1) TERRY (2) 3m (3) i (4) HIeEg
In which district hot water springs located at Ganeshpuri are found ?
(1) Ratnagiri (2) Thane (3) Nashik (4) Kolhapur
17. |iTeht g wieerqt fieeamsn gtedias sivd 7 T ?
(1) =W (2) e
(3) amum (4) =
Which river flowing on the boundary of Sangli and Kolhapur districts ?
(1) Panchganga (2) Bhogawati
(3) Warna (4) Ghatprabha
18, g Riceadiar dg w49 fawmr #va ang ¢
(1) Tt (2) TS
(3) =g (4) meEETE
Which is the hill station in Nandurbar districts ?
(1) Narnala {2) Toranmal
(3) Chandurgad (4) Gavilgad
19, TTHESAT HIHHTATT H10 G981 Tha 7

(1) feer sftees gew e amies

(2) Fad TTHIETE 9ETfRRT

(3) T AT HAER I T ST T

(4) wfen sfafeh

Who can participate in the proceedings of Gram Sabha ?

(1) The citizens who are the members of Zilla Parishad

(2) Only office bearers of Gram Panchayat

(3) All those whose name appears in the voters list of that village

(4) Woman representative

FHoodT HIATATST AT/ SPACE FOR ROUGH WORK
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20. wmmrhshaa'r%%ﬁa‘% TG TG AR,
(1) 297 HSAATTE T (2) T FeavHH T
(3) T WA TG (4) T IWEHG T

The aim of Directive Principle of State Policy is to establish
(1) Capitalist State in the Country (2) Welfare State in the Country
(3) Communist State in the Country (4) Anarchist State in the Country

: 21, i wigumdia S gesda vaar fotel st vure e ?

(1) 1984 < wEmET ThYE geed (2) 1985 <t STa=e W gewdt

Y @) 1986 F Iu=ieh Wy gt @) 1986 <t Ro=rd gfram geht

,i;‘ According to which Indian Constitutional amendment is Anti defection law
established ?
(1) Fifty first Amendment, 1984 (2) Fifty second Amendment, 1985

(3) Fifty third Amendment, 1986 (4) Fifty fourth Amendment, 1986

22, WA GRrEHTier ST ST STl TSI STehg a7 Fev aifyd e ?

(1) e & (@) TEg e

(3) Iewufeht (4) T~afEt anievs o

Which part of the Indian Constitution declares the Ideal Principles of Welfare State ?
(1) Fundamental Rights (2) Fundamental Duties

(3) Preamble (4) Directive Principles of State Policy

23. WA Ugud Fagu gavidiar ame wivmse 3ae Smat 7

(1) "8 @) T swrEm
(3) WAty A (4) STETET TEEETE
' Before whom the election dispute regarding the President of India is put ?
(1) Parliament (2) Election Commission
(3) Supreme Court (4) Attorney-General of India
24, VT GATGEEAN AEHIRTIIohd GETON Teqd ot ?
) 73 S wergeedt @) 71 = TeATgEEd
i (3) 72 di geAIgE! (4) 74 9 geATgEEI
i Which amendment did bring out reforms in Municipal Corporation ?
: (1) 734 amendment (2) 715 amendment
(3) 72" amendment (4) 74" amendment

% oo wTETE WRTT/SPACE FOR ROUGH WORK
i
P.T.O.
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25. GIiceht i wfid vanfie o geaef frfsa T ?
(1) FEara T Fitret
(2) fa. u. sgs wfich
(3) . &ft. wrdte gfret
(4) 9. 7. SiEr G A
Which of the following Committee is not related to the Local Self Government ?
(1) Vasantrao Naik Committee
(2) V.M. Dandekar Committee
(3) P.B.Patil Committee
(4) L. N.Bongirwar Committee

26. T 2010 99, TF gY IeIeE WU g¥ fasddl w [t 93 (vending machine) ITHior
AT SrHEd. o fommr arefie aygRE oftear.
(1) <, . oremeTr
(2) AR, Hiceq Srear
(3) s, 5. qo

(4) e, . AR

In 2010, a milk-vending machine was installed by a milk co-operative society in
rural Maharashtra. Name the place out of the following.

(1) Loni, Ahmednagar Dist.

(2) Warnanagar, Kolhapur Dist.
(3) Baramati, Dist. Pune

(4) Akluj, Dist. Solapur

27. ] guR AT STRaTE HHeye Wiel ST Jae e,

(1) g 2006 2) fEE=R 2008

(3) S 2005 (4) o 2006

The Justice Sachar Committee report was tabled in Parliament in
(1) November 2006 (2) December 2008

(3) June 2005 (4) May 2006

28. e ardie vuUsaE Wit FoamE 3. 99 a9 o

(1) 1975 2) 1976 (3) 1977 (4) 1980
Sikkim was incorporated in the Indian Federation. Choose the right year.
(1) 1975 (2) 1976 (3) 1977 (4) 1980

HTT HINTETE! AR/ SPACE FOR ROUGH WORK
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29, WRAT=N U1 ATl Erelletshl Hv Hates Fe@ o 7
(1) Srra
(2) ST TR T=rE
(3) ERGHT, THEWT 37V U=y foraman
(4) HE A v Yo 9 Fuuniaa yev= FHaifad e
Which of the following electoral college is formed to elect the President of India ?
(1) Loksabha
§ (2) Loksabha and Rajyasabha
(3) Loksabha, Rajyasabha and State legislative assemblies

(4) Elected members of the Parliament, State legislative assemblies and Union
territories assemblies

30. AT Gue Geere asvEhifmdtaT Ok HinEwe 3ae Sl ?

(1) g8 (2) FrasvE s

(3) I=9 =TS (4) WRATET HETHEETET

Before whom the election dispute regarding members of Parliament is put ?
(1) Parliament (2) Election Commission

(3) High Court (4) Attorney-General of India

31. T gfae uent afasi-awiar mie FRom=a wedlat AT B TS 61 I8 e 3T ST
FAME @ B o] YUAT Sded Hedtd, e Ay et

(1) ared @) =

(3) ERE s 4) YT

A person standing on a horizontal rotating platform with his arms stretched
outward suddenly brings his hands near his body. His angular velocity

(1) Increases (2) Decreases

(3) Remain constant (4) Becomes zero

32. T 60 W sraeiean faepe fsamen st 6 a1 T S, @ fawge SeiEn @ o) S

U 5.
(1) 10 (2) 360
(3) 0.36 4) 36
An electric bulb of 60 W is used for 6 hours per day. The energy consumed by the
bulb in one day is units.
(1) 10 (2) 360
(3) 0.36 (4) 36

FHeedT HIHTATS! ANTT/SPACE FOR ROUGH WORK
P.T.O.
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33. H,SO, (GcFgith S=iy=d1 sITelid ¥ed SEU Heel

(1) ETE=ET = oA (2) THERE = 2 x W@l
(3) TEHAT = HATATIHAT (4) TEHRAT = HEAUST
The relation between normality and molarity for H,SO, (Sulfuric Acid) is
(1) Normality = Molarity | (2) Normality = 2 x Molarity
(3) Normality = Basicity (4) Normality = Acidity
34, Sz fagsa fhar @i S TR 2.
(1) T T

@) fmmrET s Fee Sy
(3) TEETHYY Il TUTAUTS
(4) FEIUHTST ST BIOTAT TGRS

In fission and fusion reactions, energy is released due to

(1) Chemical reaction

(2) Conversion of kinetic energy of the reactants
(3) Conversion of gravitational energy

(4) Conversion of mass into energy

35. 1 yerute fafie ssmemerar gafftrs .
(1) = (2) W (3) uft (4) drEs
The specific heat of is maximum.
(1) Silver (2) Mercury (3) Water (4) Iron
36. T Sl feHuT=ar a9l gered (spectrum) HeTie a7 el sTgwien 1 ]
AR,
(1) a= @) Fe (3) fear @) f=er

In the visible spectrum, the longest wavelength is possessed by
(1) Red colour (2) Blue colour (3) Greencolour (4) Yellow colour

37. iz s TITUATETS 19T .
(1) gFciera=ar fuearh 3= (2) ~gedtaAameier 3w
(3) —gaitera=an fmerar (4) —getier-o=h et
Fermi is a unit used to measure
(1) Time (2) Dastance

(3) Rate of nuclear disintegration (4) Velocity

HoodT HINTETE WRTT/SPACE FOR ROUGH WORK
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‘& ofr’ & w3 0 G Heh ?
(1) Svd &<

(1) James Watt

2) &€ =& v
Who coined the term ‘Horse power’ ?
(2) C.V.Raman (3) Albert Einstein (4) Isaac Newton

11

(3) oMHE IR (4) AR A
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39.

uftier ® Then
(1) HAqUBTH TEaraTat 3T
(3) T& A A== et

Parsec is a unit used to measure
(1) Distances of heavenly bodies

(3) Velocity of heavenly bodies

GISTUA TSR 9T,

(2) T T A=A o3
(4) U= T AT RVFTE HAFS

(2) Revolving time of heavenly bodies
(4) Area of their surfaces

40.

HATERTEA I T argaraTeT RggeR wereie SegEe W 3 aefded

(1) ared
(3) wedAq ATl

2) FHER
@) IS g

According to Einstein’s special theory of relativity, mass of a body in motion

(1) Increases
(3) Does not change

with the increase in its velocity.

(2) Decreases
{4) Tends to zero

41,

frefm ag
(1) qrvamsd e
(3) TEE® AT &% 7 I

Inert gases are

(1) Miscible with water
(3) Chemically unreactive

(2) fORrR TwaE
(4) A A sra framfe

(2) Not stable
(4) Chemically very active

42,

e (e @

(1) weiEEgey (Carbohydrates)
(3) %%@H@W(Nuc]eosides)

Enzymes are made up of

ITET Sad.

(2) ST aiﬁ-férﬁ(Amino acids)
(4) et Iffa=y (Fatty acids)

(1) Carbohydrates
(3) Nucleosides

(2) Amino acids
(4) Fatty acids

43.

forggm fesam=a w14
(1) =1 (Air)

(3) ISA (Nitrogen)

The gas inside an electric bulb is

(1) Air
(3) Nitrogen

o1 A1 Tl

(2) e (Oxygen)
(4) e SERTHTSE (Carbon dioxide)

(2) Oxygen
(4) Carbon dioxide

FoodT hIHTATE! ARTT/SPACE FOR ROUGH WORK
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44,

12

afEea STTRies: HEETd Wi el IV THEAT ST THTH T 376 T el ?
(1) T MATFEES (Carbon monoxide)

(2) TGS RS (Hydrogen cyanide)

(3) W&E T4 (Mustard gas)

(4) A TE (Water gas)

The chemical used as a chemical weapon in the first world war is

(1) Carbon monoxide
(2) Hydrogen cyanide
(3) Mustard gas

(4) Water gas

45. rardieeEan (Afagan o) ATHR B HgTeuda STl
(1) 1079 diex (2) 1079 4.
(3) 10719 &, (4) 1019 g,
Size of nanoparticles is in the range of
(1) 109%m (2) 10 %cm
(3) 10 ¥%cm (4) 10¥%cm
46, e oo e @ 7= I AR,
(1) NER Q) sTeghfm (3) wagh (@) (4) wTY
‘Quick Silver’ is the another name given to
(1) Steel (2) Aluminium (3) Mercury (4) Platinum
47, I SHETEE 91 RS ST Jrear ¢
(1) SeTaa A (2) SftaTeE &),
(3) e iy (@) TESAT
The vitamin that contains a metal ion is
(1) Vitamin A (2) Vitamin B,
(3) Vitamin Bg (4) Riboflavin
48, 3 aErarT AUEES EERIET
(1) HFETSY (2)
(3) T ATIBYUN (4) FTEFqION
The deficiency of vitamin A causes
(1) Hair to fall (2) Dysentery
(3) Night blindness (4) Weakness

THoodl HIATHTS! ART/SPACE FOR ROUGH WORK
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49, TAAIF! FID G G TR 7
(1) g%=E (@) =+
(3) I8 4) B
Which one of the following is true fruit ?
(1) Apple (2) Cashewnut
(3) Pineapple (4) Coconut

50. Y ST AT S FEU WTCHcTdsh! ShIvredT ITETFTel i@ S ?

(1) A (2) TONfag GuAT
i @) A . w (4) =g e
Which one of the following scientist is known as the father of modern genetics ?
(1) Gregor Mendel (2) Hargobind Khorana
1 (3) T.H.Morgan (4) Charles Darwin

51. NIV SFRITH AT ST ATH 8. e i g9
(1) wewie siftre (2) Al e
(3) AN 3ifye (@) dfFs affye
When we exercise, our muscles contract and produce an acid knownas
(1) Sulphuric acid (2) Nitricacid
(3) Hydrochloric acid (4) Lactic acid

52. fagmrpien e snemodter aar o] aTes wRvT v sRofhg TR 7
(1) FgoiaE (Culex) (2) 3f%ATE (Anopheles)
(3) few I (Aedes egypti) (4) T gd
The primary carriers of the virus that causes the deadly Chikungunya fever is
(1) Culex (2) Anopheles
(3) Aedes egypti (4) All of these

53. SHIE FHEIAAT AT I o THQTS Fel AT, 1 FTEIA 1 R FUrand ¢
(1) Tt (Monocarpic) (2) AFWEE (Monogamous)
(3) WIS (Monogenic) (4) =WAmIhe (Monomorphic)
Some plants flower only once in their lifetime. They are called
(1) Monocarpic (2) Monogamous
(3) Monogenic (4) Monomorphic

Fooql HHTHTS ART/SPACE FOR ROUGH WORK
P.

T.O.
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54, WM WG TgEETEl SRR 3 A7 AR, gre 3 41 B
(1) feram s aE (2) W Ao
(3) ooy A19" (4) GBI HIE
Homosapien is the Latin name for a human which means
(1) Thinking man (2) Eating man
(3) Drinking man (4) Playing man

55. 1935%%%%%@%&%% I F et -Te
(1) T 3gh 3 wem =i (2) 3Teae ATEAZTEA F Tt Tl Todlt
(3) TETHIE T Il wet WA (4) Hw Fifue T @ Tt ate w=h
The husband and wife who were jointly awarded the Nobel Prize for chemistry in
1935 were
(1) Pierre Curie and Madam Curie (2) Albert Einstein and his wife Elsa
(3) Rutherford and his wife Mary (4) Frederic Joliot and Irene Curie

56. WA 28 Hyarl 71 fea T fagm fam e wew g A9, w foaw . =@
I feaw amR.

(1) St

(2) TR JTet=T

(3) TE WHEHTET/anfeadan

(4) 37 feefren

In India, 28t February is celebrated as the National Science Day to
commemorate

{1) Birth Anniversary of C. V. Raman

(2) Award of Bharat Ratna to C. V. Raman

(3} Publication of C. V. Raman’s Research findings

(4) Death Anniversary of C. V. Raman

57. ‘OTEC’ 21 TIRYTG ol 9798 T Fiell (19dT o= WId S Jewaqul (e
e, AWl OTEC =1 14 AR,

(1) Ocean Thermo Electric Creation

(2) Ocean Tidal Electric Conversion

(3) Ocean Thermal Energy Conversion
(4) Ocean Turbo Electric Conversion

‘OTEC is one of the useful plans of the Indian Government to meet the power
requirement from non-conventional energy sources. OTEC stands for

(1) Ocean Thermo Electric Creation

(2) Ocean Tidal Electric Conversion

(3) Ocean Thermal Energy Conversion
(4) Ocean Turbo Electric Conversion

Feeql HIATHIS! AR/ SPACE FOR ROUGH WORK
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58. 1963 I1.9ETH yuH o JIRAT AT e,

() e 2) &

(3) $FE 4 7

The year 1963 saw the first successful

(1) Kidney transplant (2) Heart transplant

(3) Lung transplant (4) Brain transplant
59, WHaT IR SAifEd @ RV AN Fa% T,

(1) ffe= 2) 120 feag

(3) 180 fea| (4 o =ufF fae s wda

The life span of human red corpuscles 1s

(1) Uncertain (2) 120 days

(3) 180 days (4) Aslong as the individual survives
60. TR=AT gHTET ST ey Yy St ¢

(1) Fenfes Xanthophyll) (2) TEERifa (Riboflavin)

(3) TFEE (Ribulose) (4) WA (Carotin)

The colour of cow’s milk is slightly yellowish due to presence of

(1) Xanthophyll (2) Riboflavin

(3) Ribulose (4) Carotin
61. WIEETEI=T HeId T HETd FivrdT da 95T a4l 7

(1) ared (2) = (3) o armd (4) o e

What happens to value of money during inflation ?

(1) Rises (2) Falls (3) Remains stable (4) None of these
62. WATAUHI IV FROT e IR AT ?

(1) IS 918

(2) ¥ TESIE are

(3) I &I a8

(4) % F IeRT

Which of the following is not the cause of price rise ?
(1) Increase in incomes

(2) Increase in money supply

(3) Increase in supply of goods

(4) Low agricultural output

FoodT HINTETE! ST/ SPACE FOR ROUGH WORK
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63. WIAIAIHT, YR ST Fisi= Aewr=T gesh HIudl 38 7

(1) fodd= (2) IS A

(3) ARG @) e

Which of the following is an important component of economic planning in India ?
(1) Reserve Bank of India (2) Planning Commission

(3) Loksabha (4 NABARD

64. Tordear ToaTe: AremaTdd, S8 IUATER wHT W I TG HidTER S R e e ?
(1) =eft qeaTfier A1t (2) werE TEaie A
(3) A3t qeraier A (4) TETE U=ETYe g
Under which Five Year Plan, lower emphasis on heavy industries and more
emphasis on infrastructure was given ?
(1) Fourth Five Year Plan (2) Sixth Five Year Plan
(3) Eighth Five Year Plan (4) Tenth Five Year Plan

65. WATh! FIVET STSTE] THEY TSIRTEATEAT SAUHE FeAl A1 7

) wirstrate Fef

F) FEGTRIHST Haerel et

F) T e

(1) Fa9 2 99% (3) FaAF @) == ¥4

Which of the following include liabilities of the state governments ?
a) Provident fund

b) Loans from the central government

¢) Reserve funds

(1) aandb (2) bandc (3) aandc (4) all the above

66. TIEAITURRY SHivre Mt THIRY WA TR JSRIaAehTd Bid ?
) < s T i
q) AT IFEIAFE AU T G HE
%) IR AN A A
(1) 1949 (2) 99 = (3) ATH (4) Fawd
Which of the following items are included in Union Budget of India ?
a) The actuals for the year preceding the current year

b} The budget estimates and the revised estimates for the current year
c} The budget estimates for the coming year

(1) aandb (2) bandc (3) aandc (4) All of these

THoedT HIRTETS! AFT/SPACE FOR ROUGH WORK



A 17 | PSP
67. AN dF, Wil v & “wrufis w @ ) ?

Suieind

| (1) 3 e (2) sl 3o
! (3) forvered veuR S TET) (4) PR T
i Which of the following is not the primary function of Commercial Banks ?
: (1) Accept the deposits (2) Give loans
(3) Act as a ‘Trustee’ (4) None of these
7 68. WICHE) HIUR &4, o JaToAT JRTEHRAT, N1 QAT 9T AR 7
§ (1) Y& (2) W3 T weaw I
(3) Degfors & (@) e &
. Which of the following sector is not a part of priority sector for the purpose of bank
lending ?
; (1) Agriculture sector (2) Large and medium industries
3 (3) Education sector {4) Housing sector

s? 69. ST IR HewTd, G VT Jesie] HHay 36 Hid FHuaTd F1el ?
: (1) =auR gafta s wemm 5@
(2) SR TET¥A T[AEvEs IUTH
(3) Taner s
1 (@) a0 wd
' With reference to international trade, which of the following issues were included
in Urugway Round ?
(1) Trade-related intellectual property rights
(2) Trade-related investment measures

(3) General agreement on trade in services
{4) All the above

70. Tiefterdsht shivreaT wid e Fratdire ¥ 1990-91 @ 2006-07 9 19.5% 61 10.3% T

2 greret geifaet et ¢
(1) @ (2) NI g
(3) YrauTdA @) @feaa

Which of the following item showed a decline in India’s exports during 1990-91 to
2006-07 from 19.5% to 10.3% ?

(1) Minerals (2) Manufactured goods

(3) Agricultural goods (4) Mineral oil

HEHT HIWTHTS! AN /SPACE FOR ROUGH WORK
P.T.O.
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71. B (O AR g HENTS TS YR Shivid] deH1 g% el 3778 7
(1) wfear wemer Fe
(2) U gUR FHRFH
(3) TTHUT TSR
(4) TR FrAT
Which is the scheme started by Maharashtra state government for rehabilitation
of dowry victims ?
(1) Woman's Welfare Scheme
(2) Community Development Programme
(3) Rural Development Programme
(4) Home Scheme

72. TSIF WPY T SrewErd! Usardfid 99 (BPL) TG (NG #1891 fBha g e

W 29T, afget T59 v 7
(1) siEmn (2) WETSE
(3) HEYET (4) T

Which was the first state in India which gives the benefit of National Insurance
Scheme to BPL Card holders ?

(1) Haryana (2) Maharashtra
(3) Madhya Pradesh {4) Gujarat

73. T 2010 7, A HIVTET TSAH AT [l ToH FHIE Tehiaen 7

(1) WErS 2) T4

(3) AW (4) BTG

Which state stood first in the Economic investment in the year 2010 ?
(1) Maharashtra (2) Gujarat

(3) Madhya Pradesh (4) Tamilnadu

74. Teaed s IoqredTa 916 9 A fhHd wiae FEE O oeeaa sTarETETd) e Hider

IR 7
(1) =fse A (2) TsamE fify
(3) grdsres = ifa (4) FEHE Fs Al

Which policy has Reserve Bank adopted for co-ordinating in control of increase in
production and normal price level ?

(1) Monetary Policy (2) Fiscal Policy
(3) Public Spending Policy (4) Public Debt Policy

HoeaT HINTETS! AT/ SPACE FOR ROUGH WORK
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75. TG T YA AT FHIOTHEAT G T S IO O
(1) w6y (2) qThie)
(3) ol (4) wob
Whe_n the ratio of quantum of money is greater than quantity of commodity and
service mean
(1) Inflation (2) Deflation
(3) Dis-inflation (4) Reflation
76. St ATET SAICATER STEUA 3! TR IV L AT STt ? - -
(1) gt (2) dmed W
(3) SRTA (4) <hia 2
Which tax is imposed on goods came to the city by canals 7
(1) Custom tax (2) Vehicle tax
(3) Octroi tax (4} Terminal toll
77.  aftao HERTSIIYEr ST IO S S FREATEs VI Sond Tl iHIeoT U ST 7
(1) ®2+=F (2) TR ¥
(3) A §F (4) ¥ €& Iy Fw
In which bank, old “Ganesh Bank of Kurundwad” in South Maharashtra was merged ?
(1) State Bank (2) Maharashtra Bank
(3) Federal Bank (4) 1.D.B.I. Bank
78. WRAIIE st Aleed i shivre gret ifewara T ?
(1) 1949 (2) 1946
(3) 1950 (4) 1956
In which year Bombay Money Lenders Act came in existence in Maharashtra ?
(1) 1949 (2) 1946
(3) 1950 (4) 1956
79. 3% (OPEC) 3 qedrer #13 31 7 o
(1) = (2) =g
(3) Fad (4) @

Where is the headquarter of OPEC (Organization of Petroleum Exporting
Countries — OPEC) situated ?

(1) Vienna (2) Algiers
(3) Kuwait (4) Laurence

Hooq] HINTATS! STATT/SPACE FOR ROUGH WORK

P.T.O.
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80. 1960 Fer HrehFrroTe yuETge fatdia v awge Few g AR ?
(1) FeEai=a % (2) R IRUT 9]
(3) 2 (4) HH
After 1960 which export commodity has gained importance due to the influence of
industrialization ?
(1) Skilled goods (2) Non traditional goods
(3) Jute (4) Coffee

81. WIecIdh! shIvTaT Uk IUTT wTaETe it swevarar “fifss s’ o ?
(1) T @i S
(2) U=a1 &0q d1e
(3) T Fater Fmw
(4) G TN TR e fasht
Which one of the following i1s the monetary measure to control inflation ?
(1) Reduce in Government expenditure
(2) Increase in tax rate
{3) Control of Government borrowing
(4) Sale of Government Securities in the open market

82, Tewa fawme #t samel T=ota aui=h 71 R eV forama daelt s @ Fewmerar wumam

(1) afgew=n Fems (2) Trewen amrext Fdsmen

(3) 3= g fwne (4) urw=n e

The price index that uses current year quantities as weights is called
(1) Laspeyer’s index (2) Fisher'sideal index

(3) Wholesale price index (4) Passche’s index

83. Ty IrEfiur IseTr =t AT (NREGS) ivies a9t swrrif=g sioama saredt ?

(1) 2004 (2) 2006 (3) 2008 4) 2009
In which year the National Rural Employment Guarantee Scheme (NREGS) was
launched ?
(1) 2004 2) 2006 (3) 2008 (4) 2009
84, PR FO SR T g e e ?
(1) w=. 9. . g (2) “gEar gfamm
(3) U (PURA) yfmm @) <Hd TrawH
Which model of planning is related to Gandhian approach ?
(1) L.P.G.model (2) Nehruvian model
(3) PURA model (4) Dunkel model

FHooHT HIHTHTE! AR /SPACE FOR ROUGH WORK
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85. WRARI SEH=A1 HIVIRN FeTl-ad HHaHGT Al ol Wl LATHT FArel] 7% 7
(1) =" 201 (1) (2) &ceH 1056 (2)
(3) &% 118 (1) (4) &a4 180 (1)
In which Article of Indian Constitution the Public Accounts Committee has
established by Parliament ?
(1) Article 201 (1) (2) Article 105 (2)
(3) Article 118 (1) (4) Article 180 (1)
86. TS J=TNeh JISHa garan AU GG
(1) TEIT @I=T 5.0% (2) U EE= 12.5%
(3) THU @A 7.8% (@) v Ea=m 8.6%
The deficit financing of Eighth Five Year Plan was
(1) 5.0% of the total outlay (2) 12.5% of the total outlay
(3) 7.8% of the total outlay (4) 8.6% of the total outlay
87. R T st TR o= frifia wigaema aew s are R g ¢
(1) 2T @2) 7.5 (3) 10 Twk (4) 15 7%
What was the share of State Government in issued capital of Regional Rural Banks
at the time of establishment ?
(1) 2 per cent (2) 7.5percent (3) 10 per cent (4) 15 per cent
88, i) T Hefera SiTen ST HEATCHE Fol TSN WA TehT HIVIeHT FahT= a1eT 2007 -08
wed gty Sired g ?
(1) HeF s (2) wrefirs oy et
(3) =TI HeRT (4) fasft =
Which of the following banks was highest share of institutional credit to agriculture
and allied sector for the year 2007-08 ?
(1) Co-operative Banks (2) Regional Rural Banks
(3) Commercial Banks (4) Foreign Banks
89. 2008-09 A& WRATEAT TRV Frfeta v T AT wata S g ¢

(1) wenreg (2) SIS

(3) T (4) HATeH |

Which state had the highest share of India’s total exports for the year 2008-09 ?
(1) Maharashtra (2) Uttar Pradesh

(3) Guwarat (4) Karnataka

FoohT HWATHTE! W1TT/SPACE FOR ROUGH WORK
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90, foeefl =TI GRwT 2009- 14 ToR yidad faid g2t wr wtvar 3fwe fhd s 7
(1) 11 7% (2) 12 TFh
3) 15 T (4) 7T
According to Foreign Trade Policy 2009-14, what is the objective of achieving an
annual export growth ?
(1) 11 per cent (2) 12 per cent
(3) 15 percent {4) 7 percent

91, HENTE TS JMferd &7 fordl 8% 3me 7 (8% '00 Ty 7ed)

(1) 307580 (2) 370583
(3) 375583 (4) 407755
How much is the geographical area of Maharashtra state ? (Area in ’00 ha)
(1) 307580 (2) 370583
(3) 375583 (4) 407755

92. FY foen fovas S g wftas 3um i ?

(1) ST=sIe e (2) 3AWHE TS Ty o
(3) IATE ITET =N (4) ©E I3

Which is the Agronomic erosion preventive measure ?

(1) Mulching (2) Contour bunding
(3) Trenching (4) Gully plugging

93. TEWI USAI9 U o1 gla ifmm | sivret fier Seares anefavamandt gefaen smar ?
(1) =1 foes Q) 9
(3) wrgE (4) el
In Maharashtra state “National Food Security Mission” 1s implemented to increase
the production of which crops ?
(1) Food grain crops (2) Sugarcane
(3) Cotton (4) Fruit crops

94, raTed fodien TRy a1 TTegT=A WS RETed §1F U TR &S AR TFh TR,

(1) 90 (2) 80 (3) 70 4) 75

In India, area under Triticum aestivum wheat is about % of the total
wheat area.

(1) 90 (2) 80 (3) 70 4 75

oo HIATATS! AWM /SPACE FOR ROUGH WORK
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95. IV @AW 79 ¥ ST TR 3TEd 7
(1) JmIEq de%e @) I
(3) FHicwem smifam Az (4) mifem wads
Which fertilizer contains nitrogen in amide form ?
(1) Ammonium sulphate (2) Urea
(3) Calcium ammonium nitrate (4) Ammonium chloride
96. SETET IUCATATS! FIVCHT ANTHE GATHES ST Icd1e Q0T &7HaT 318 7
(1) g 3 dEs (2) T gHSTHI ATTEE
(3) TUT=T IYNT FE ANEE (4) ®EW ATES
Which planting technique has a greater potential for potato production ?
(1) Planting by “TPS’ method (2) Planting by potato tuber cuttings
(3) Planting by seedling (4) Use of plant cuttings for planting
97. HENISIA Gald R el i 0T HiaTgi 8 7
(1) aemE 2) FfeTR!
(3) 3IuEl Serfa=d (4) fagd
What 15 the major source of irrigation in Maharashtra ?
(1) Tanks (2) Tube wells
(3) Liftirrigation (4) Wells
98. TR T AT UHERE WIOR 273 SO 9l SIEeTIo yierl) Sraeied) S awfl Zvamardl
IV IEd ATETd 7
(1) que@Ess wer il 2o (2) 981 Tgd
(3) IR fF=m (4) 9T 9gd
Which method of irrigation is used on low moisture retentive soils requiring
frequent, light and uniform application ?
(1) Surface (2) Border Strip
(3) Sprinkler (4) Check basin
99, fe=mrea FivrEn ygdia s FEt s wee suEeT and ¢

(1) Wi 95T (2) O-IE@ T

(3) T Ugd (4) Tou= vga

Which irrigation system needs minimum land preparation ?
(1) Flood irrigation (2) Furrow irrigation
(3) Basin method of irrigation (4) Drip irrigation

HoedT HIATATE! AT/ SPACE FOR ROUGH WORK
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100. ‘memad! U5 @ FoEHR 9 3 yiieTor Teen’ Hid AR 7
(1) TR (2) arorE (3) 2T @) nfrEr
Where is the ‘Central Soil and Water Conservation Research and Training
Institute’ is situated ?
(1) Hyderabad (2) Varanashi (3) Dehradun (4) Orissa
101, WERTSA STEd $7d 918 H0aTdTs! v idsh Tefae ST ¢
(1) TR Far a9 (2) U 4R
(3) Tdaat (4) == gd
In Maharashtra, which programmes are implemented to increase irrigated area ?
(1) Check dams on rivers (2) Vanrai Bandharas
(3) Farm Ponds (4) All above
102. ST U Yo ol SaTaeA ared SR 9ot ueRt |rses faee A g S, wnen s
T ¢
(1) e qToft s R & (2) 9Tl &5
(3) aroft wpre femTeft aTga A & (4) = == (1, 2, 3)
An area of land whose runoff drains to a common point, is known as
(1) Catchment area (2) Watershed
3) Drainage area (4) All the three above (1, 2, 3)
103. U PRI G G IS Mg 7
(1) & et . (2) AR
@) = 4
Where is the “National Dairy Research Institute” ?
(1) New Delhi (2) Bangalore
(3) Chennai (4) Pune
104, T SATER HaAlq ANTEAT 39T HIvrar 7
(1) === GO qaR 0 (2) =r=ar=a1 a8 aean
(3) T FaTT ATIEE O (4) =r=arean U= Tre 9T s
Which is the the best remedy for solving the shortfall of fodder ?
(1) ‘Cylage’ making (2) Increase the acerage under fodder crops
(3) Planting fodder trees (4) Dense sowing of fodder crops

Hoed] HTATATS! AFTT/SPACE FOR ROUGH WORK
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105. @relicrd=ht o Ui 31 Feu[F weliee ST 7
1 @ 2) == (3) g% 4 =@
Which of the following is considered a complete food ?
(1) Ghee (2) Meat (3) Milk (4) Curd
106. SEER AT IR Fd VA e TEUIS! S eud IITETa Ue ey s oy sare wezem i
At aerdielt gy i) ?
(1) JuERE=n (2) BBETT (FATH)
(3) WTSTTeT Jeared 4) FN
Which science as a special part of the general field of botany connected with
orchards and garden plants, as defined by Chandler ?
(1) Horticulture (2) Pomology
(3) Olericulture (4) Agriculture
107. NTsaTe Siewl & Al YaeieygTaiel UTae T, dee T 3R,
(1) Srevi S (2) e Tz arero
(3) I TT-Tohg soaedmaq @) fa=m
When paclobutrazol 1s applied to mango every year, 18 necessary.
(1) Pruning (2) Application of additional nutrients
(3) IPM (4) Irrigation
108. iTewT Wi g1q™ ten ferrane st et 35w o ¢
(1) ‘et wrveTEn =mTen fEa goml
(2) Wi faor sifia
(3) @I IHH
@) sHfifia TR YT SR Sraeet
Which soil is suitable for production of quality Alphanso mango ?
(1) Lateritic well drained soil
(2) Heavy clay soil
(3) Saline soil
(4) Soil with high lime content
109, FALHOTFER FATETA! iiifersh S et <o &5 swma 7

(1) 20T (2) 30 T (3) 33TH (4) 66 ¢aF

According to forest policy how much of the geographical area should come under
forest ?

(1) 20 per cent (2) 30percent (3) 33 percent {4) 66 per cent

THeed HwIWTETE! AT/ SPACE FOR ROUGH WORK
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110. 3T wewieier 39t S sivre grer=t anmEe 26t WY TaR FuaTarEt T 7
(1) g 2) ™ 3) fer (4)
Which trees are planted in usar lands of U.P. for manufacturing Tasar silk ?
(1) Mulberry (2) Babul (3) Neem (4) Arjun

111, WEE Teamg aam@re el 87 1R 7 (89 /00 Taee)
(1) 52130 (2) 42110 (3) 60520 (4) 62410
In Maharashtra state how much area is under forest ? (Area in '00 ha)
(1) 52130 (2) 42110 (3) 60520 (4) 62410

112, TeTd Fieaioal IO SISt Amon FHTaree .
(1) 4- 67 (2) 6 - 8mf
3) 8- 10 =fe @ 2-49fA
In ponds, growth period of prawns is
(1) 4- 6 months (2) 6—8 months
(3) 8- 10 months (4) 2-4months

113. @reftardh Hiordt e Wl s a1 ?
(1) e @ g (3) e (4) st rd
Which of the following is a foreign species of fish ?
(1) Cattla (2) Rohu ~ (3) Mrigal (4) Silver carp

114, WA TETE) et fovet qreammt yrommg samr Rt oramd 7
(1) 4 - 5 fafeniw (2) 5 - 10 fafenin
(3) 10 - 15 fafemin (4 15 - 20 ffewiy
What should be the pfoportion of oxygen per litre of water for fishery ?
(1) 4-5mg (2) 5—10mg
(3) 10-15mg (4) 15—-20 mg

115. IVl &1 6 Biga o 18 Alge a1 Frezafea Hedt srard ?
(1) < gedi=t st (2) weaw qEdE F
(8) oTcq Harfr Ft (4) TTIHT TR AT
Which loans are paid back within a period of six months to eighteen months ?
(1) Long term loans (2) Medium term loans
(3) Short term loans (4) None of these

Food] HINTHETS! AW/ SPACE FOR ROUGH WORK
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116. =ivTe quia= fSehTd aral= THIo S T8 7
i (1) (2) T
1 (3) =it @) v
:; In which cereal the sugar content is higher ?
3.? (1) Baby-corn (2) Sweet-corn
: (3) Finger millet (4) Sorghum
117. WERILE 9T (37-9) A &g 95.2009-10 793 %. g,
(1) 900 2 950 (3) 1030 4) 1000
In Maharashtra during 2009-10, the minimum support price of rice (Grade-A) was
Rs.
(1) 900 (2) 950 (3) 1030 (4) 1000

118, IV JeRRoAT STSATIOH ToR S1feeRr ShefY Searet ava STEu=I sqaa T oo STaar 7

(1) ¥eaed Tl (2) TG ST

(3) TrgH SUFTHY (4) T AT VS

In which type of unemployment peoples are engaged in occupations, where their
marginal productivity is very low ?

(1) Under employment {2) Disguised unemployment

(3) Involuntary unemployment (4) Visible under employment

119. ‘st Tt AT AT A ey S eArsh e Tew o ?

E (1) 100 & @) 50 TF (3) 25Tk @) 75
How much is the Central assistance for the “National Rural Employment
Programme” ?

(1) 100 per cent (2) B0percent (3) 25percent {4) 75 per cent

120. &1 1951 wed forel} Zaoh SiehEEaT Sidfiat STaeT Bt ?

s ey

(1) 63.2 (2) 76.5 (3) 69.9 (4) 60

What was the percentage of working population dependent on agriculture during
19517

(1) 63.2 (2) 76.5 (3) 69.9 (4) 60

121. e e we saE a9 i (Symbol) ST 9.

(1) T (2) &% 3) =f @ w§
The fifth currency in the world to get its own symbol is
(1) Rial (2) Leu (3) Rupee (4) Peso

FESIT HIATETS AR/ SPACE FOR ROUGH WORK
P.T.O.
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122, 9Wd FF TS LY gt el
(1) =) st
(2) BTy 9
(3) . uetE e
(4) THfEm 92 EEHR
‘Bharat Krushak Samaj was founded by
{1) Chaudhari Charansingh
(2) Pandharinath Patil
(3) Dr.Panjabrao Deshmukh
(4) Ramsingh Bhonde Sarkar

123, WA AT TR H1HET 1994 He ThedTd ool §Eeims F AT
Hreft AR,

(1) 379 TsaTdie TETEHT g 999 S FugTel

(2) T AT TH FOGET

(3) Rt FeierT smEaa e FroEEt

(4) ST ATATEHHT ITFAT TH FHIOITEH

The recent amendment to the transplantation of Human Organs Donation Act
1994 puts a ban on

(1) Donation of organs to citizens from other states

(2) Donation of organs to grandchildren

(3) Donation of organs to foreign nationals

(4) Donation of organs to close relatives

124, ¥em, S2q g AR Rieaner s 9o Breei 3t ?

(1) =3fer e (2) IETR o
(3) T 9 (4) Tl AR
Which dam will be beneficial to Bhandara, Chandrapur and Nagpur districts ?
(1) Narmada Dam (2) Indira Sagar Dam
(3) EraiDam (4) None of the above
125. WHATdA ufgen AHIE Tehed 39 faepfira sFoam 49 onR.
(1) Frem @ 7 g 3) = @ g%
The first Mono Rail Project in India is being developed at
(1) Kolkatta (2) New Delhi (3) Chennai (49) Mumbai

ool HIHTETS! AT/ SPACE FOR ROUGH WORK
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126. ¥ 2010 H=2 WT¥wh Fasue o1 71T shivien 7 fevere watapre famverar asdia qwhn
QT 0T HATAT 7
(1) ¥e=% (2) Tt (3) v (4) FhAIET v T
In 2010, which Marathi film was awarded the best film national award in the
regional film category ?
(1) Natchandra (2) Natrang (3) Natmantra (4) None of the above
127. 2010 723 Foiedn TEgd S99 10 TR Hiel UTavai=1 T98d SHivndr (W 98 e 7
(1) @ iR (2) HfaTUFa (3) EEAT Aga™ (4) T TFA
Who won the silver medal in 10,000 meters running competition in 2010
Commonwealth games ?
(1) Swati Shinde (2) Kavita Raut (3) Saina Nehwal (4) Kalpana Raut
128, WERTS; IR Jehears Ffifcen Tva TR g I T TS
(1) WERTS e I
(2) TERTZ U= UieAig I99m
(3) WRWI UsY gu&n uRwe
(4) Ot uewet T
Name of state sponsored security machinery created by Govt. of Maharashtra 1s
(1) Maharashtra Security Agency
(2) Maharashtra State Police Agency
(3) Maharashtra State Security Council
(4) None of the above
129. 2011 TET 25 STt & o= S fag R g st e ?
(1) "o (2) waer f&m
(3) AHa AR fom (@) 34
From 2011, 25th January was celebrated as
(1) Republic Day (2) Voters Day
(3) Human Rights Day (4) Industry Day
130. UG WU HEWS TeTa] 1 FETEE T T YRR Y1 ST 1.
(1) i A9 U= e GerfieR
(2) wigaAT™ GeieToT
(3) gaF wEHiRw
(4) wEdh et T

At the national level, the state of Maharashtra was awarded twelve national awards
for

(1) Empowerment of persons with disabilities

(2) Empowerment of women

(3) Empowerment of Youth

(4) None of the above

ool HINTETE! ARTT/SPACE FOR ROUGH WORK
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131.

30

grfie 10 99T T 19 =8 1RE Fags v\ &t €19 . Gy valy e
(1) ¥4 (2) A (3) 3TYE: A (4) 379Tq: Y

There is significant reduction in numbers of new HIV cases for last ten years.
Choose the correct options.

(1) True (2) False (3) Partially true (4) Partially false

132.

F AT Theqret 99 2010 ot e i sorn T gash! e,
(1) 2000 ATEE (2) 1000 BMEZ (3) 1960 HMEE (4) 2500 AMEE

Total power generating capacity from Koyna dam during 2010 was
Mega Watt.

(1) 2000 Mg. W. (2) 1000Mg. W. (3) 1960 Mg. W. (4) 2500 Mg. W.

133.

Fll 79 I feder 2010 Hed U [OERR SUATT ST, 1 QORI A7 SHas .

(1) ShyEga TEHR 2 s v gm

@) Fhos (4) i

In December 2010, noted Marathi poet 'Grace' was felicitated with the award in
Pune. The name of the award is

(1) Keshavsut Puraskar (2) Priya G. A. Sanman

(3) Kavira) (4) Kavibhushan

134.

Wi Tfee FUeH e 2010 TR @ AT WAL 2 F wied B
(1) 809 (2) 814 (3) 82d 4) 833

Marathi Literary Convention was held in Pune in March 2010. This was the
Convention.

(1) 8oth (2) 81st (3) 82nd (4) 83rd

135.

AT 2010 T2 HYvreT IeTd AT shier Tt yrfs Hhear gien ?

(1) afem (2) TS (3) wEE™ (4) BRI

In which city China was organized Asian Games in 2010 ? ,

(1) Beiging (2) Guangzhou (3) Shanghai {4) Hong Cong

136.

e (3. grret) Fefier srrmoaTat U U= =11 T8, 416l 3Teiee ‘Henfs samaseheq’
TRV TN het TR, T TSATA TS fohad SATISERTY 3R 7

(1) gfgen (@) e (3) fawa (4) g

The forest sanctuary at Chandoli (Dist. Sangli) has a status of a National Park.
Recently it is declared as ‘Sahyadri Tiger Sanctuary’. This is the tiger
sanctuary in the state.

(1) First (2) Fourth (3) Third (4) Second

THESHT HIATATE! AT /SPACE FOR ROUGH WORK
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137, 3Fcfiee dhegel ITRAE SaTatyl Tiiyg e, B et IO J9ma IR 7
(1) smEfe 2 T (3) Freiferan (4) HfFTR
9.; Recently the climate conference at Cancun was concluded. Name the country where
this city 1s belongs.
(1) Brazil (2) Peru (3) Colombia (4) Mexico

138, TG STGOTAT UehT HIIRIA HiaNaTe e yedHaten fewiar vl 80% 1o ez, ar

,& P TR s R s e T

14 fora.

(1) 378w S (2) whiaTe i

(3) & HATA (4) o o

A Maoist suspect and top leader in the movement while in jail excelled in exams
he scored 80% in his post graduate diploma. Choose the correct name.

(1) Arun Fereira (2) Kobad Gandhi

(3) Kanu Sanyal (4) Vinayak Sen

RS A R el

139. Frimefies 7 SEUR g W
(1) fam Fams 9 faee ot (1. R. D. P.)
(2) R Ear frame wfde (T. R AL L)
(3) 3t fam g waedft wemes (D.1.C. G. C. 1)
(4) = 3gor HErEErers (D. G C.A)
Point out the odd from the list.
(1) Insurance Regulatory and Development Authority (I. R. D. P.)
(2) Telephone Regulatory Authority of India (T. R. A. L.)

(3) Deposit Insurance and Credit Gurantee Corporation of India (D.I. C. G. C. 1)
(4) Director General of Civil Aviation (D. G. C. A))

140. wifeeian st a1 SR adave T 9T wve
(1) AR TS A
(2) TR FHE= e E
(3) T HIUTHTEAT BTaTd WATE 96 20t
(4) TFTEI ITEE] S50 g Grasti-eh HARTT THETIhdT 309

The aim of right to information is

(1) To end corruption

(2) To discipline govt. servants

(3) To have a powerful weapon in common man’s hand

(4) To make bureaucracy responsive and to bring transparency in public affairs

o1 HBIHTETS! WITT/SPACE FOR ROUGH WORK
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141, setieatia At vemaradtea giaden +@ revam ?
(1) &= 3hH (2) TS
(3) fet=ed (4) 39 feget
What is facility to search information on internet ?
(1) Search engine (2) Browser
(3) Directory (4) Web directory
142, A 2009 dt <-20 firex gftsg T3 el @t 7
(1) ¥ 2 e 3) st (4) oo
The G-20 Summit was held in which of the following places in Oct. 2009 ?
(1) Paris (2) Vienna (3) Tokiyo (4) Pittsburg
143. g smaddifeerym’ weheararel g STEA v war s e ?
(1) et (2) =TIt (3) welel (4) 9rm
Which village was selected by Central Government as ‘Unique Identification’
project ?
(1) Tembhal: (2) Chapholi (3) Taloda (4) Warana
144, G HivrRn 3w WA g o et s aften Iwe "een ?
1) 3T @) fore (3) A (@) =H
Which of the following countries launched world’s first satellite for monitoring
green house gases ?
1) U.S.A. (2) Britain (3) Japan (4) China
145, A THIE! ‘TTEel’ ST HIom=aT FHeAonsh geiftd e ?
(1) gef| =1 o= Ad e (2) o'W geAiamEt
(3) Tt FgamEEl (4) foanfea geffardt
The scheme ‘Ladli’ launched by Government of India is related to welfare of
(1) Mother giving birth to baby girl (2) Baby girl
(3) Whole family (4) Married girl
146. 15 1 Siehare Tt wigen wee e 7
(1) 49 (2) 59 3) 45 {4) 50
How many women members are in the 15t Lok Sabha ?
(1) 49 @) 59 (3) 45 @ 50

Food] HIHTETE! AN/ SPACE FOR ROUGH WORK
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e ?

(1) ofieTg (2) FAITRY

(3) FAles (4) wEHr

Which of the following State Government decided to have ‘Mahila Court’ in every
district of the state ?

(1) Tamilnadu (2) Andhra Pradesh

(3) Karnataka (4) Maharashtra

148.

TeteTash! ST HagrEET AR dumn guy 37 v ?

(1) aee 2) IewiE

(3) g3eis (4) <faro =ifen

Which among the following countries was the first to give women the right to
vote ?

(1) Iceland (2) Netherland

(3) New Zealand (4) South Korea

149.

2009 = T TRt IR Yahs STeaiy HIoTE d w6 Tt ?

(1) <=z seh (2) Ya eaTe

(3) IHR wee (4) §aE TR

Pankaj Advani won National Snooker Championship of 2009 by defeating
(1) Devendra Joshi (2) Dhruv Setwala

(3) Yasin Merchant (4) Sourav Kothari

150.

T arefior VST geft i1 FgET qEedeht FRiven TEH S K ¢
(1) sfew mieh arefor TR &/ e

(2) TfiE Mt amfier dsR e

(3) TATETATS &% UTHIOT TSI g6 et

(4) wRTenT TITef TTter TSR Bt el

The National Rural Employment Guarantee Act is now known by which of the
following name ?

(1) Indira Gandhi Rural Employment Guarantee Act

(2) Rajiv Gandhi Rural Employment Guarantee Act

(3) Jawaharlal Nehru Rural Employment Guarantee Act

(4) Mahatma Gandhi Rural Employment Guarantee Act

FHEoUT HIATHATS! ATTT/SPACE FOR ROUGH WORK
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Trefter AFe g s gy F. 151 9 7. %. 153 = 3w .

2

5 1 3 6 3 4 5

(1) (2) (3) (4)

Observe the figure and answer the question No. 151 to 153.

2 5 1 3 6 3 4 5
(1) (2) (3) 4)
151. 3 BT 375 JAHced] TRHITTAT foaeg TSaTeR Fivar 31 43c ? |
1) 4 2 6 3 2 4 1

Which number will appear on the opposite side of number 3 ?

1 4 (2) 6 3) 2 4 1

152.

for=am STerd = TS YRSTER. VI 3 Ised ?

1 2 2 4 (3) 3 4 1
Which number will appear on the base surface Figure No. 3 ?

(1) 2 2 4 (3) 3 4 1

153.

qfgean SArhd T TR qSSTa IV 3 I3 7

1) 6 @2 3 @ 1 (4) A AT
Which number will appear on the base surface of the Figure No. 1 ?

(1) 6 (2) 3 3) 1 (4) None of these

FHoed] HITATS! STHTT/SPACE FOR ROUGH WORK
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ﬁ 154, @refid stmeghata T foheft Frptor 3mRe ?
]
() 12 (2) 13
- ;& 3) 15 4) 16
How many triangle are in the given figure ?
i
(1 12 (2) 13
3) 15 @) 16

j 155. TwATIRa SRIETE! Heas G g e,
JAVAN 1SN
M @ | @[ ] @ |

Find out the correlated diagram in place of question mark.

M @ |- e[ | @ |

156. W¥ATId STHIEE! FEwa 4 ST 3@,

W @ () ® O @ |)

Find out the correlated diagram in place of question mark.

VA= ?
W @ O ® O @ )

HEST HIATATS! THTT/SPACE FOR ROUGH WORK

P.T.O.
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157. T e st
(1) AFZ (2) BGY (3) CHX 4) DJW
Find the odd man out. o
(1) AFZ (2) BGY (3) CHX (49 DJW

158. 3T T ez

FINIKCEA
) I:F @) U< 3) [E (4) H]

Find the odd one out.

FINICE A
(1) |:F (2) H< 3 I:l; ) H:l

159. @i %5 9l .

ZYBA, XWDC, VUFE, TSHG, ?

(1) RQJI (2) PQIJ (3) RQIJ (4) QPRJ
Complete the following sequence.

ZYBA, XWDC, VUFE, TSHG, ?

(1) RQJI (2) PQIJ (3) RQIJ (4) QPRJ

160. w7 Torgrem Sl ot Wi Hae.
65:101: 7 :197

(1) 85 (2) 145 (3) 140 (4) 170
Which number will come 1n the place of question mark ?
65:101:7:197

(1) 85 (2) 145 (3) 140 4) 170

161, 4096 :64W2116: 7

(1) 46 (2) 34 3) 32 (4) 44
I£ 4096 : 64 then 2116: ?
(1) 46 (2) 34 (3) 32 4) 44

Foed1 HTHTATS! ITT/SPACE FOR ROUGH WORK
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. 162. S 1235 FeU + X — < 9 9478 TEUS @ * > = I AR A = * X < > AT WA Hioreft
2 wen autfet wda 7
| (1) 42587 (2) 45728
(3) 84257 (4) 47852

If 1235 means +x — < and 9478 means ® *> = then which number group given

below will represent = « x <> ?
(1) 42587 (2) 45728
(3) 84257 (4) 47852

163. SWO+H+P=39; M+A+N= 280 M+A+C+H+I+N+E=?

(1) 43 @) 53
._ 3 54 @) 64
_f fO+H+P=39;M+A+N=28thenM+A+C+H+[+N+E=?
; (1) 43 @ 53
@) 54 4) 64

164. X 4312 = ‘NICE’ 9 756 =l ‘PRO’ W 75312 =< &1 ?

(1) PRICE (2) RICEP
(3) CEPRI (4) PIRCE
If 4312 means ‘NICE’ and 756 means ‘PRO’ what will be the code for 75312 ?
(1) PRICE (2) RICEP
(3) CEPRI (4) PIRCE

165. R U weviet fuwrelt, fure ot 9fe, i reue ws onfir ITE revS @it e W

e HYT et Avrdte 7
(1) o 2 e
(3) g @)

If penis called bag, bag is called pencil, pencil is called ink and ink is called eraser,
what should be used to carry books ?

(1) Bag (2) Pencil
3) Ink (4) Pen

Hoeq] HINTETE JAATT/SPACE FOR ROUGH WORK
| P.T.O.
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166. WIciedsh! FIvTd ATRet € T4, fhehet 3 FeaTa Garg Ar=aTdiat Iy geiyr exifad ?

0(00) o(@) 0@ (o] )

Which of the following diagram shows appropriate relationship between human,
cricketer and football player ?

2(00) o(®) « @ W@

167. G ITFS TS A IW AR, INE a1 91 9 km. F1rd el IGRS Te&7 94T &M 4 km.
A e . T8 9Y7 Ioeihe 9a7 M 15 km. He HIUHA. a1 UhaT I de 12 km.
T HTT TR ST AT HATIT qe3 T fohel) oFaer o1 ?
(1) 6km (2) 8km
(3) 10 km 4 17km

Sunil is standing facing towards north. He walked straight 9 km toward north, and
turned to right and walked 4 km. again he turned to right and walked 15 km, again
he turned to right and walked 12 km. Now how far Sunil is away from his starting

point ?
(1) 6km (2) 8km
(3) 10km (4) 17km

168, ShiATa G g1 SRt ShivTdt Seat A5 ¢

6 | 60| 5
8 [112| 7
14 72 | 12
(1) 182 (2) 168 (3) 252 (4) 336
Which number will appear in the place of question mark in the rectangle ?
6 | 60| 5
8 | 112 7
14| ? | 12
(1) 182 (2) 168 (3) 252 {4) 336

HoedT HIHTHTE! AFT/SPACE FOR ROUGH WORK
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169. * I To=gr=an 9l A & Hivrg ?

S B M

H D

* F O

1 T (2) N 3 Q @ P

Which alphabet at the place of ‘%’ ?

S B M

H D

* F 0 | o
@ T @ N ®Q @ P

170. W ania 40 faemeff o, 90% mmmmamgﬁwmm,m

Torelt Terem=ff uftera sfuel st ?
1) 18 (2) 20 (3) 24 @ 22

A class has 40 students, 90% among them appear for the final examination out of
which two third passed. How many students passed the final examination ?

(1) 18 (2) 20 3 24 4 22

171. GIefie G&ImHEreT ot .
8, 3, 16, 6, 24, 9, 32, .... 7
1) 40 @ 12 (3) 14 @) 44
Complete the following number of series.
8,3,16,6,24,9,32 ... 7
(1) 40 @ 12 3 14 (4) 44

ol HIHTHTSI ARTT/SPACE FOR ROUGH WORK
. P.T.O.
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172. mﬁuwm-aﬁwﬁﬁmmmmﬁ?ﬁ e frawdar st e

S gE=T g fen, s aRde fesdid L %mammwg?ﬂnﬁw H
Tefrean fiessdi= e 15,500/ - maﬁmmm‘d’rwﬁmmuﬂa?
1) 1,50,000/-  (2) 93,000/~  (3) 1,86,000/-  (4) 1,46,500/-

Mr. Ramnath gave half of his property to his eldest son, half of the remaining to
his second son and 113 of the rest to his daughter. If property received by daughter
is worth Rs. 15,500/- what would be the total value of Mr. Ramnath's property ?

1) 1,50,000/- 2) 93,000/ (3) 1,86,000/- (4) 1,46,500/-
173. 31 anfor o e v W 8 Rgwmg Faa. 9 wheT 49 w1 24 Raga wwa) @ oF e
feaume @ Fm R 7
(1) 8 (2) 24 3 12 (4) 10

A and B can together do a work in 8 days. B alone can do it in 24 days. In how
many days A alone will do the he same work ?

(1 8 @ 24 3) 12 (4) 10

174, TR 99 B qar=n fooee TR, o1 SO W 16 99 e, o SrEe 9yl 9
femelt 7
(1) 249 () 32a8 (3) 40 =¥ (4) 48 T8

The age of Rama is three times than the age of Hari. The difference between the
age of both is 16 year. What is the total of the age of both ?

(1) 24 year (2) 32 year (3) 40 year (4) 48 year

175. @Fﬁaﬁaﬁwmw%ﬂwwﬁzﬁmqﬂaﬁa:q

VANVANWAN

(1) 74 (2) 41 3 37 (4) 47
Choose appropriate alternative, for question mark given in a triangle.

. 1 3 5
2 3 4 5 6 7

(1) 74 (2) 41 (3) 37 4) 47

Hoog] HIHTTE} AT /SPACE FOR ROUGH WORK
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9del Table 964 . %. 176 ¥ 180 =i St =,
T |uwee | Wit | F | e | ma
A v v v X X
B v X v v X
C X v X v v
D v X v v v
E v v X X v
Give the answer of the Q. No. 176 to 180 from the table.
Name | Apple | Orange | Banana | Mango | Grapes
A v v v X X
B v X v v X
C X v X v v
D v X v v v
E v v X X v
176. TS 2Ma<d U1 hed! TGS TR 37 HivT TR ?
(1) A 2) B 3 C 4 D
Who like mango but does not like banana ?
1) A (2) B 3) C 4 D
177. 9%EE 9 Gt Sqrasard v e A1ESd el o7uft oy ?
(1) AB (2) BE (3 CD 4) AE
Likes apple and orange but does not like mango.
(1) AB (2) BE (3) CD (4) AE
178. Wt 7 TR AaSaTd yv hedl ST AT 7@ HioT 7
1) A 2y C 3) E 4) D
Likes orange and apple but does not like banana.
1 A 2) C 3) E 4 D
179. |®Lag, N9 N7 1Y eTaEarg 2auf iy ?
(1) A 2 B 3 C 4 D
Who like apple, mango and grapes ?
Q) A @ B (8) C 4 D
180. THTER Hasd YUl X8 HA1GSd Tdid 31 Fivy 7
1) AB (2) BC 8y AC (4 BD
Who like apple but does not like grapes ?
(1) AB (2) BC 3) AC 4) BD

ool FINTHTE AFT/SPACE FOR ROUGH WORK

P.T.O.
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181. WERTY QR a&] TISh SAUH ST SR 1998 F1 ¥ 5 (I9) =3 wear fffim

FeqreT aREITE at feedt ad 3y orwat ?
(1) = (2) 91
(3) 3 (4) w=

Under Section 5 (five) of Maharashtra Scheduled Commodities Wholesale Dealers
Licensing Order, 1998 the valid period of licence from date of issue is

(1) Five (2) Four
(3) Two (4) Six

182, Herg I=uT Wi (fGeta) e 1966 =41 Wicieiish! HIvel weqrad 1fegd ey
TR HaT Jiieh!, 31 AR T AN 390 SR T 7
(1) e 11 (2) FaF 12
(3) &H 14 (4) =T 18
In Maharashtra Foodgrains Rationing (second) Order, 1966 under which Section it
is mandatory for an authorised ration shopkeeper to maintain books and registers ?
(1) Section il (2) Section 12
(3) Section 14 (4) Section 18

183. T TR f&fie of 7w wiis fegm (vganm oifs wwm, fexiegym of< fiegwm o1fw
TAATFEIAE) IR 2005 =1 G 7 TR WIEAeTash! shive Yee U9 qurevi= ST oned ?
(1) Trumares safvwr
@) foraramy Fias
(3) TEEs e famEreg
(4) FeEe f¥ranany fterd
In the Motor Spirit and High Speed Diesel (Regulation of Supply, Distribution
and-Prevention of Malpractices) Order, 2005, Section 7, who among following is
competent for inspection of petrol pumps ?

(1) Rationing officer
(2) Rationing inspector
(3) Assistant controller rationing

(4) Assistant rationing officer

Hoodl FMTATE! SRTT/SPACE FOR ROUGH WORK
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184, Toeiwids vdferm o (LgeivF e qwm i fedisgem) ey 2000 wHfid o 7 992
GTATYH SheTaTed g R 7

(1) T8 faatm 9w S /gEHTa SEwEs § Td orfied 3au

) e fSudiete @ areaETEd gl Wi B anau

(3) TSl T TSt AT ITHTOr R W, [ES Rt fasht F

(4) T el quraet 9§ s

What are the provisions under Section 7 of the liguified Petroleum Gas (Regulation

of Supply and Distribution) Order 2000 ?

(1) Maintenance of registers, account books by distributor

T A A s w.’
>

(2) Display of stock and price of liguified petroleum gas
(3) Possession, supply or sale of liquified petroleum gas equipments

g[ (4) Power of entry, search and seizure

185. HEWIY Hiceee, {HAT 8 AT (FITH) IRY 2007 HEA THATH GIefieish! FIT=T FHEE

HIOITd HIeT 7
(1) =7 (2) A=
(3) IFnifad 4) Treag wE oigd

Which solvent is recently added in the Maharashtra Solvent, Raffinate and Slop
(Licensing) Order, 2007 ?

(1) Pentane (2) Iomax
(3) Aromax (4) Mixed Fuel Oil (MFO)

T

186. WA Icieh! IV MR e, 16t rftrera Rremarew grmm witeres frifia et s 7
() Shermeayes agg At 1955
(2) "eRTSg =ur firenearey i R 1966
(3) VR VSHeS FUISIET ISt 1998
(4) Imaht o AT
New licence for authorised ration shop is issued under which of the order ?
(1) The Essential Commodities Act, 1955
(2) The Maharashtra Foodgrains Rationing (Second) Order 1966
(3) The Maharashtra Scheduled Commodities Order 1998
(4) None of the above

wHoed] HMTHTS! AT/ SPACE FOR ROUGH WORK
P.T.O.
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187. WEW Wiceee, Thie onifit T (STET9) e 2007 Tefid w10 Fomad WarTaRaEH

e oA g AR 7
(1) =emH 21 (2) Feg 22
(3) wem 15 (4) wew 17

Under which Section of the Maharashtra Solvent, Raffinate and Slop (Licencing)

Order, 2007 there is a provision for appeal against the order of licencing authority.
(1) Section 21 (2) Section 22
(3) Section 15 (4) Section 17

188. WW@HWWWW)WIQSG%W B
AT TR,
(1) vl foemEmey
(2) g fRrmarey
(3) mETUNde ¥ frrEmRy
(4) ot fowm fremareg
The Bombay Rationing Area Scheduled Commodities {(Regulation of Distribution)
Order 1986 1s applicable for
(1) Urban Rationing Area
(2) Bombay Rationing Area
(3) Rationing Area of Maharashtra

(4) Pune Division Rationing Area

189. firmfie uve fordt prenaefamgt fraraes g A TeoR sew @ asfi e
frizen Rrerarey fiar @t wiitpd Setee s 30 duwne IR
(1) 2 TEas (2) 3 ISR
(3) 4 A3 (4) 5 33T
For what period of absence from rationing area a ration card holder must notify
his absence to controller of rationing or the person authorised by him ?
(1) 2Weeks (2) 3 Weeks
(3) 4 Weeks (4) 5 Weeks

FHoodT HIHTATE! AT /SPACE FOR ROUGH WORK
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190. 600 f.<ft. afia fehier fs3a wiar wresr=an fadt eaa awaa fe. Hier f@de afs smwdi
feie (et @1 g, fewieqem ofe fimmym s areriadiee) 31idt 2005 it w3

e ?
(1) 0.30% (2 0.20%
3) 0.25% @ 0.35%

What is the permissible stock variation of highspeed diesel sale above 600 k.1
given in the Motor Spirit and Highspeed Diesel (Regulation of Supply, Distribution
and Prevention of Malpractices) Order 2005 ?

(1) 0.30% (2) 0.20%

3) 0.25% (4) 0.35%

191, WERI g a5 91 Fhar STafa e1mew, 1998 73 T geswr apran | At aref

Tert v forerht e Tt amwen Tforet .
(1) 25 (2) 28
(3 30 (4) 31

As per the Maharashtra Scheduled Commodities Wholesale Dealers Licensing
Order, 1998, monthly grinding capacity means daily grinding capacity of a Roller

{ Flour Mill multiplied by __ days.
(1) 25 2) 28
(3) 30 (4) 31

192, WRIS HEHd T 91 fashal SIgafe STew 1998 R Ui AR} J7e 31 ArE=

aevld TehT dad] Tereer afmaomig s are= wid, e foran fasfiandt areavm
FOTH et 31T TR,

(1) 10 2) 25

(3) 50 (4) 100

As per the Maharashtra Scheduled Commodities Wholesale Dealer Licensing
Order, 1998 in relation to sugar, wholesale dealer means a person who carries on
business of purchase, sale or storage for the sale of sugar in quantities exceeding

quintals at any one time. |
(1) 10 (2) 25
(3) 50 (4) 100

Heeq] HHTATE AT/ SPACE FOR ROUGH WORK
P.T.O.
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193. mersg 3= fraranew ( fidfh) fafeme smew 1966 Jam Rraermess fumfiea
T JTG O T T 3T 7 R e it swoamd T o
TR I3 O onafi omk.

1) 8,9 2 9,8

(3) 14, 15 (4) 15, 14

As per the provision of Maharashtra Foodgrains Rationing (Second) Regulation
Order 1966, applicant should apply in form no. for increasing units on
ration card and in form no. for reducing units on ration card.

(1) 8,9 2) 9,8

(3) 14,15 (4) 15,14

194, wewrg 3= furamaren ( o) fafamm amaw 1966 o s srftga frmaes gwmer®

30T AT TR,

(1) 15 (2) 30 (3) 45 4) 90

Ag per the Maharashtra Foodgrains Rationing (Second) Regulation Order, 1966
every ration shop intending to stop the business of supplying rationed foodgrain
shallgive _ ~~_ days previous notice to the controller.

1) 15 (2) 30 (3) 45 (4) 90

195. WERIS 3T it (adi) omewr 1966 o+ Jftrra fremarey gFer™ fhdt smma
TEPH ST 0 ATaTEF TR 7
(1) %. 100 ) %. 500
(3) %.2,000 (1) ®. 5,000
As per Maharashtra Foodgrains Rationing (Second) Order 1966 what is deposit
amount to be paid by authorised ration shopkeeper ?

(1) Rs.100 (2) Rs. 500
(3) Rs. 2,000 (4) Rs. 5,000
196. wfedian stfber arfafSm 2005 & Q{9 YA 97 v 3R,
(1) <79 9 Fe (2) IRU I TR TIA
(3) &R (4) mar
Rights to Information Act 2005 is applicable everywhere else in Indiaexcept
(1) Jammu and Kashmir (2) Dadara and Nagar Haveli
(3) Lakshdweep 4) Goa

Tl HINTETS! AT/ SPACE FOR ROUGH WORK
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197. werTSg AU T ( geUEY oraeht, WA dar iy fice, sgaht 9 GaqT HgU T e
FTe 92 Fam 1981 rafa yensw e waret swemaier ot feaarh o ?
(1) 15 f=m @) 20 ==
(3) 30 femw @) 21 f&am
What 1s the maximum joining period as per the Maharashtra Civil Services

(Joining Time, Foreign Service and Payment During Suspension, Dismissal and
Removal) Rules 1981.

(1) 156Days (2) 20 Days
(3) 30 Days (4) 21 Days
198. wifEdt rfepR weiara ufeet H1fUet Traes swwaradt frdt feawi=h @we water ae ?

(1) 21few (2 30 feaw

(3) 60 fea®m (4) 90 ==

What is the maximum time limit to file the first appeal under the R.T.I. Act ?

(1) 21 Days (2) 30 Days

(3) 60 Days (4) 90 Days i
199. WERI TR |ar ( Wa=aT gaayRY Wi ) fgw 1981 gER TN AT A1 T %
% Ja7 w1 T fied e sten wearaTer et sl Wit we. g
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As per Maharashtra Civil Services (General Conditions) Rules 1981 18

monthly amount given to Government employee who does not get monthly salary
and leave salary.

P (1) Family pension (2) Subsistence allowance
‘ (3) Special pay (4) Wound or injury pension
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What is normal period of stay for one posting of non-secretariat class III employee
as per Maharashtra Civil Services (Govt. Servants Regulation of Transfers and
Prevention of Delay in Discharge of Official Duties) Act 2005 ?
(1) 4 Year (2) 2 Year (3) 6 Year ) 5 Year
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